Dynapro

71699-00 - 2009/11

@*

»> dynapro

min. 7

-
|
|

min. 53

37

-
—tel0

min

max. 13
min. 10

Alle MaBangaben in mm.
Technische Anderungen vorbehalten.

Dimensions in mm. The right to technical modifications

and developments is reserved.

LSB Lichte Schubkastenbreite / Inside drawer width
SK  Schubkastenldnge / Drawer length

NL  Nennlinge / Nominal length

LW Lichte Weite des Korpus / Inside cabinet width
X Mind iefe / Minimum i ion depth
KV Korpusvorderkante / Front edge of cabinet

HV  Hoh llung / Height adj

SV  Seitenverstellung / Side adjustment

NV Neigungsverstellung / Tilt adjustment

Bohrlehrenempfehlung / Borir

g JIg I

Fiir Schubkisten / For drawer boxes

Artikel-Nr. / Item No.
F146109874299

Fiir Korpusschiene / For cabinet profile

ol

Artikel-Nr. / tem No.
F 146109873299

www.grass.at, info@grass.eu

Mindesteinbautiefe =X /
Minimum installation depth = X

X=NL+3
= - SK=NL-10 .
~ min. 12
¢
€ .
37
Wo& w0 O 000 900
ﬁ e
L i I Y. Y S ——

Rastkupplung / Front bracket

Vorbohren erforderlich @ 2,5 / Pre-drilling required @ 2.5

min._35

e

@ Spanplattenschraube @ 3,5 x 25 mm /
Chipboard screw @ 3.5 x 25 mm

Innenschubkasten/ Inset drawer: X = NL + 21
- 37 -

K [ ps R

SK=NL-10

0

DO 7

Verstelladapter / Adjustment adapter

Vorbohren erforderlich @ 2,5 / Pre-drilling required @ 2.5

10 32

ko

32

15
|
i
|

min.35

@ Spanplattenschraube @ 3,5 x 16 mm / 10,32
Chipboard screw @ 3.5 x 16 mm “
- *Iﬂg =} r i
sl \ﬁ w!e* O
16 | S

@& Euroschraube @ 6 x 14,5 mm

Euro screw @ 6 x 14.5 mm

Befestigung fiir Korpusschienen
Mounting positions for cabinet profiles

Vorbohren erforderlich @ 5

10
\ i
g t
: }
i
H
' 28
= w—e| 40kg
‘ Nlm
- 00 $00 000 0 $¢00|| 00 00
|
00 $00 00 o 00
F j oo " " 350 - 450
{
{o]e] o 00
F— bk Sadl S 480 - 520
L
[$o0 00 $0o $00 00 o $¢00)
m ooty o= 550
e L |
~ ® © * N 9 @« ~ o~
'3 @ ' o~ o o o~ el o~
3 2 &8 8§ & 2 &
£ X=NL+3 —
kv 60 kg
.
00 $00 $00 000 o 4 c,, Nioidin
L _ ]
w 00 00 $00 $00 000 bo 4o
ﬂ 1 500 - 580
—_—
| |
[ 00 $00 00 $00 $00 000 0§ a5k
—
905 ARG i O T L |
= o @ © - o N o
@ I:3 @ n o~ el @ -
L) N o~ ~ |
. X<NL+3 el

172

G*GRASS



Dynapro @

»> dynapro

71699-00 - 2009/11

Montageansicht/ View for mounting
Hohenverstellung (max. +3,5 mm)
Height adjustment

1 Fiihrung links / rechts
Full extension slide left / right ==

2 Rastkupplung links / rechts
Front bracket left / right

3 Verstelladapter links / rechts

Adjustment adapter left / right 7
N\,

Seitenverstellung (max. £1,5 mm)
Side adjustment

] ]

A |k 4

1 Beide Rider in die gleiche Richtung verstellen /
Adjust both wheels into the same direction

2 Schubkasten aushé@ngen. / Remove drawer

3 Schubkasten einhéngen. / Insert drawer

Neigungsverstellung (max. +4 mm)
Tilt adjustment

2/2

www.grass.at, info@grass.eu @*9 =>mm®



